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Plot Sensor and FgRec Data
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Warning: col ['M_E’] missing

.0 0.2

0.4 0.6 0.8

m=905, FV0=0

—_
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12:20 210 100.0 = BRi%e12:20 (RFEEREE)
13:35 210 100.0 & BRi%@13:35 (RAA1EREE)
23t 840.0 (4%) 400.0 #2#%EC: 2200.0, PH: 6.5

WAEERRAR (1.4) , BEE

TeREHLER 2 STRARETRT (289.0 :
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105.0), AJEEKRFTZFERE
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Warning: col 'MW ] missing
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Warning: col "MW 1] missing
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Warning: col ["M_E’] missing
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Warning: col "M W] missing
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Warning: col "MW ] missing
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Warning: col ['M_E'] missing
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Warning: col ['M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.

0

m=575, FV0=0
.8 1
.6 4
4
.2 4
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Warning: col "M W 1] missing
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Warning: col ['M_E'] missing
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Warning: col "M W] missing
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Warning: col ["M_E’'] missing
0.0 0.2 0.4 0.6 0.8 1.
m=935, FV0=0
. 8 4
.6
.4
.2 4
Warning: col ["M_E'] missing
0.0 0.2 0.4 0.6 0.8 1.

0



hour

9:45

10:50

12:10

13:30

15:00

100

80

- 60

- 40

20



P5

BYE) | GEBERTIC (B)) | EBE (BEAH/#K) | XE R
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10:50 210 100.0 Gl B1%@10:50 (RFERSE)
12:10 210 100. 0 B BRi%e12:10 (REERSE)
13:30 210 100.0 5 Bi%@13:30 (RFERSE)
15:00 210 100.0 = Bi%@15:00 (REEHSE)
2411 1050.0 (5)%) 500. 0 32 KEC: 1560.0, PH: 6.5

WREHRIRAR (1.41) , FRE

TEREHLER 2 STAAETRT (293.0 :

EOREBIRTC R IRAE R 2L (210.0 vs 625.0))

2RI\ LBRIERE34. 0 ml.

34.0), AIREKRBERE

REREBEC (2006.0) 5FMEC (1450.0) RE K, HHRE

[E3®EC (1066.0 vs 1140) {R{K

LERGEBIEC (2010.0) S51REVEY (1560.0) RER K, BHHEE.
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Warning: col 'MW ] missing
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Warning: col "M W] missing
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Warning: col ['M_E’] missing
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Warning: col "M W] missing
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